"TEST: FUNCTIONS | |[NAME- .~ .

QUESTION I. ) Given that f(x) = x2 - x, find
\ (i) £(-3)

(ii) x when f(x) = 6

() If f(z) = az® + bz + ¢ find the valve of f(z) — f(—2).

Question 2.

(a) State:
(i) the natural (largest possible) domain; and

(ii) therange

of the function f for which f(z) = /(1 — z%.

(b) Skstch the graph of the function in (a) (not on graph paper).

(Qucsdon3. Draw sketches (not accurately drawn graphs) of the following curves,
showing essential features:

2 ~ State the domain and range of each.

(a) v =x" -4 .
2 2

b X + = 9 [____.———
(b) Y j:) 23 = A 25 —aer
(c) y= -4

X
(dy v = ixi + 1
(e) ¥ = (x+ 2)3
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QUESTION 4. & function is defined by the following rule:

1 £ft) = 3t +2 for £330
" = t2 + 2 for t<« 0 B
() Draw a neat sketch of the function for - 2 £ t £ 2

(b) Evaluate £ (-2) + £ (0) + 3 f (1)

(c) Is the function f continuous
at + = 0 7
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Question 5. the curve y =l X

function even, odd or neither?
Give a full explanation for your answer:

QUESTION 6.

On a number plane dlagram,

. shade the reglon
which the followlng lnequalltlies are
satisfied simultaneocusly

X + v > 2
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BUESTION |
ey f(-3)- -3
=2
.. T
Yo -x = b
A =X~ b=0
(X-3)(x+2) =O
A=3 prx=-2
b) L) - f(-x)
=ax*bx+c ~[ax“bx+c]
=2bX

PUESTION 2
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Domain = Xel

Ronge = xR

OUESTION 5
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. f(-0) for all &
. the funchon is even

QUESTION b
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QUESTION U
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\j=-F('x)

=23

b)f(-2) +{(0) +3f1)
=b +2 +3.5
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